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TABLE B.1.1
TABLE B.1.2
Saturated Water
m a Saturated Water Pressure Entry
Specific Volume, m*/kg
Specific Volume, m*/kg
Temp. Press. Sat. Liquid Evap. Sat. Vapor
(°C) (kPa) Vr Vig A Press. Temp. Sat. Liquid Evap. Sat. Vapor
0.01 06113 0.001000 206.131 206.132 (kPa) 0 Ve Uy Vg
5 0.8721  0.001000 7117 147.118 0.6113 0.01 0.001000 206.131 206.132
10 1.2276  0.001000 106.376 106.377 1 698  0.001000 12920702 129.20802
15 1.705 0.001001 17.924 77.925
- o T B B 15 13.03  0.001001 87.97913 87.98013
25 3.169 0.001003 43.3583 43.3593 2 17.50 0.001001 67.00285 67.00385
30 4.246 0.001004 32.8922 32.8032 2.5 21.08  0.001002 54.25285 54.25385
35 5.628 ~ 0.001006 25.2148 25.2158 3 2408 0.001003 45.66402 45.66502
10 r.384 - 0.001008 19.5219 19.5229 4 2896  0.001004 34.79915 34.80015
45 9.593 0.001010 15.2571 15.2581
50 12.350 0.001012 12.0308 12.0318 5 32.88 0.001005 28.19150 28.19251
55 15.758 0.001015 9.56734 0.56835 75 40.29  0.001008 19.23674 19.23775
60 19.941 0.001017 7.66969 7.67071 10 45.81 0.001010 14.67254 14.67355
65 25.03 0.001020 6.19554 6.19656 15 5397  0.001014 10.02117 10.02218
0 3119 0.001023 204114 s.0421 20 60.06  0.001017 7.64835 764937
75 38.58 0.001026 4.13021 413123
80 e i —- Py 25 64.97  0.001020 6.20322 6.20424
n57.83 0.001032 2.82654 282757 30 69.10 0.001022 5.22816 5.22918
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v =0.5 m3/kg (wl
v=1m3/kg (c
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Specific Volume, m*/kg

Press. Temp. Sat. Liquid Evap. Sat. Vapor
(kPa) ("C) Ve Vg Ve

275 130.60 0.001070 0.65624 0.65731
300 133.55 0.001073 0.60475 0.60582
325 136.30 0.001076 0.56093 0.56201

Adb oo )b g mle pegaste e (oo S5 pogatte wo gludl ddlate )3 g
Ml.:uo&lhw‘ é:Lo u"ymrb»)‘)*“j°bl*°ul§&9*mrb7‘>‘3)w ua.)LoA.o.Lzm).)
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V="VfT XVfg ' 0.5=0.001073 + x0.60475, x=0.825

ol 25 Bedle ol (lp Seollydge s Jguo 4 axrlyo b (o

Temp. v i h r

(°C) (m*/kg) (kJ/kg) (kJ/kg) 400 b
I
300 kPa (133.55°C) rl_ |
250 0.79636 2728.69 2967.59 | |
300 0.87529 2806.69 3069.28 | |
400 1.03151 2965.53 3274.98 300 =——1 | |
500 1.18669 3129.95 3485.96 | | |

1.34136

3300.79 3703.20 1.0 1.0315 v

tonS ol olilee gy 5l Wb s cpl o lod 1054) Cuwd 4 (gl y

r—300 400 -300
1.0 — 0.8753  1.0315 — 0.8753

T'=3798C.

slope =




1 go0d Ao
Aolod cpesi ) ,L23 V= 0.4 M3/Kg ogase o3 5 200 C clos L T (¢l

Temp. Press. Sat. Liquid Evap. Sat. Vapor
(C) (kPa) Ve Veg Ve
195 1397.8 0.001149 0.13990 0.14105

200

1553.8 0.001156 0.12620 0.12736

V <V > cwl (Superheat) »,5 548l s 3 o3k

wS alpe Ol superheat Jois 4 ub ool

500 kPa (15 1.86°C) 600 kPa (158.85°C)

0.37489 2561.23 2748.67 0.31567 2567.40 2756.80 6.7600
0.42492 2642.91 2855.37 0.35202 2638.91 2850.12 6.9665
0.47436 2723.50 2960.68 0.39383 2720.86 2957.16

L3 0 600 kpa 4 500 kpa 4 o ,Lis tases
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L.l 0 25% cuaS b 9-20 °C slod o Sligel 0.5 Kg (ggl> a8 o odnlin a5 (g ailuw
g el jlié 03 o plp 1.41 5 J o> g ol oxilw, 20 °C 4 JL,,:QJ slod b LS
Al |y Sligel g o plodl

P = P = 190.2 kPa o)l Selidge i Jodo 4 asnlye b
— 4 5l — f

Vi = Vi+X1Vee = 0.001 504 +0.25 x 0.621 84 = 0.156 96 m®/kg

TABLE B.2.1
Saturated Ammonia
Specific Volume, m3/kg Internal Energy, k]/kg
Temp. Press. Sat. Liquid Evap. Sat. Vapor Sat. Liquid Evap. Sat. Vapor
("C) (kPa) Vr Vrg Ve Uy Uy iy
—20 190.2 0.001504 0.62184 0.62334 88.76 1210.7 1299.5
20 857.5 0.001638 0.14758 0.14922 272.89 1059.3 1332.2
‘ V<V s - e
vy = 141 v = 1.41 x 0.156 96 = 0.2213 m3/Kg}  tap)> ¥ Cundy clp 822 o P Byl CIEEER

TABLE B.2.2 (continued)

cwl (SUperheat)

Superheated Ammonia
Temp. v u h s V u h s
) (m*/kg) (kJ/kg) (kJ/kg) (kJ/kg-K) (m*/kg) (kJ/kg) (kJ/kg) (kJ/kg-K)
500 kPa (4.13°C) 600 kPa (9.28°C)
Sat. 0.25035 1321.3 1446.5 5.2776 0.21038 1325.2 1451 .4 5.2133
10 N 0.25757 1333.5 1462.3 5.3340 0.21115 1326.7 1453 .4 5.2205
20

1353.6 1488.3 5.4244 0.22154 1347.9 1480.8 5.3156
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2 2
1
1Wg=f PdV:f Pﬂ}dv=area=n1§{ﬂ+f%g}{1fg—Vl)
1 1

1
= 0.5kg 5 (190.2 + 600) kPa (0.2213 — 0.156 96) m® /kg

= 12.71 k]
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a. 7'=300°C, u= 2780 k]J/kg
b. P= 2000 kPa, u = 2000 k]J/kg

b oo gledl )0 g o (315 (6531 o o3le IS 315 (5531 lusl allate )3 a3
b oo glsl wlo J31 (6550 5l jeS eole JS B (65l ey oo ddlais )
LSl (oo gl Yo (A3 (655l 5l i edle IS JBI (65,0l S Bgble ddlate )

U = 2562 kj/kg wold T =300 °C (slos gl OT (gl (Ssalindge s Johis 4 danlyo b
Internal Energy, k]J/kg

Sat. Liquid Evap. Sat. Vapor
Iy Ufg Ug
1331.97 1230.99 2562.96
= WA | Lg‘).g
b, < U > .cwl (Superheat) 5,5 598l cdbs )5 o3l
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a. 7'=300°C, u= 2780 k]J/kg
b. P= 2000 kPa, u = 2000 k]J/kg

4l (superheat) ¢ 5 ggile o Joo 4@ el po jLib )] Comd 4 (sl ol plo
oS (s

TABLE B.1.3 (continued)

Superheated Vapor Water
Temp. v u h s v u h s
C) (m®/kg) (kJ/kg) (k)/kg) (kJ/kg-K) (m®/kg) (kJ/kg) (k)/kg) (kJ/kg-K)
1600 kPa (201.40)°C) 1800 kPa (207.15°C)

Sat. 0.12380 2595.95 2794.02 6.4217 0.11042 2598.38 2797.13 6.3793
250 0.14184 2692.26 2919.20 6.6732 0.12497 2686.02 2910.96 6.6066
300 0.15862 2781.03 3034.83 6.8844 0.14021 2776.83 3029.21 6.8226

P=1600kpa | P=1800 kpa le | P=1648 kpa
>

u=2/81kl/kg | u=2776.8 ki/kg u = 2780 kJ/kg
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1 9) Cawd 4 1y ok o3y Y 1 G ya gl (XVP)  Siolunge 5 olgs
a. T=300°C, u= 2780 kJ/kg
b. P= 2000 kPa, # = 2000 k]fkg

TABLE B.1.2 (continued)

Saturated Water Pressure Entry
Specific Volume, m3/kg Internal Energy, k]/kg
Press. Temp. Sat. Liquid Evap. Sat. Vapor Sat. Liquid Evap. Sat. Vapor
(kPa) 0 ¥r Vig Ve ur Uftg Ug
1750 205.76 0.001166 0.11232 0.11349 876.44 1721.39 2597.83
2000 212.42 0.001177 0.09845 0.09963 906.42 1693.84 2600.26
u<u, > Ll gLl b g (65890 sl o oole
2l o (T=212.42 °C) glusl slod b plys Lod ol plis
u = 2000 = 906.4 + x1693.8,  x = 0.6456 w)l> pogae e il

v =001 177 + 0.6456 x 0.098 45 = 0.064 74 IHE;"kg.
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Solo |y

+mg(Z{— Z1) +1 ol Seeladge s Jol (4536 ]

10 =U, — Oy
Vi 0.05
o Mg _ — 4794k
Mg = =" = 0001 043 5
% 4.95
117 vap — = =2.92kg

~ v, ~ 1.6940

Uy = m ligt1 tig + 1171 vap U1 vap

= 47.94(417.36) + 2.92(2506.1) = 27 326 k]

m = my tig + My vap = 47.94 + 2.92 = 50.86 kg

V 5.0 3
Vo = — = m = 0.098 31 m” /kg

-y b -
&b]ﬂf‘g@\;\_;—



m = my g + My vap = 47.94 4+ 2.92 = 50.86 kg

— _ 3 '
V2 = — = ¢oe = 0.098 31 m” /kg

V 3.0

TABLE B.1.2 (continued)
Saturated Water Pressure Entry

o)l gl OF Jodo a4y asnlpo L

Specific Volume, m?/kg

Press. Temp. Sat. Liquid
(kPa) (C) Ve

1750 205.76 0.001166
2000 212.42 0.001177

u, = 2597.83 kJ/kg

v, = 0.11349 m3/kg

Evap. Sat. Vapor
Vg Ve
0.11232 0.11349
0.09845 0.09963

u, = 2600.26 kJ/kg

Vg = 0.09963 m3/kg

0.011349 - 0.09963  0.011349 - 0.09831

' 2597.83 - 2600.26
u, = 2600.5 k] /kg

Uy = mu, = 50.86(2600.5) = 132 261 k]
102 = Upe Uy =132 261 — 27 326 = 104935 k]

AT ———

2597.83 - u,

Internal Energy, kJ/kg

Sat. Liquid Evap. Sat. Vapor

uy U g g

876.44 1721.39 2597.83

906.42 1693.84 2600.26

obbe | uy=2600.5kJ/kg
>

v, = 0.09831 m3/kg
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dh = du + d(Pv) =~ du + Vdp' dh~ du~ CdT '
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c, = 24 du=Cio dT | dU = mCyo dT
dT bt ol
h=u+ Pv=u+ RT ' Cw=% ' dH=Hproﬂ’T'

P

Constant I + d7, u + du,
h +dh

Constant 7, u h

v

dh = du+ RdT

——s Cpn—-Cp=R
CydT = C,ydT+ RdT P '

WD
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Properties of Various Ideal Gases at 25° C, 100 kPa* (51 Units)
Chemical Molecular R 7 Cpo Chwo

Gas Formula Mass (kg/kmol) (k]/kg-K) (kg/m?) (kJ/kg-K) (kJ/kg-K) k= g‘"
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(h), = 441.89KJ/kg, (), = 42.00K]/kg
(he), = 249.10KJ/kg,  (he), = 83.95kJ/kg

(441.89 — 249.10) k] /kg

fily = Mty L = 0.2kg/s

Ge—hn), = 0.919kg/s

(83.95 — 42.00) k] /kg
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! | P

Fi= 0.6 MPa —ESS = 5 0.15 Mpa s b1y Jib ok 51 e

=200 P e obr ) 453 S S5 600 M5

(50)° (600)° | m?/s?
. Sl i h. = 2850.1 + = 2671.4k]J/k
'M)b - L-?.'>9‘°)" J9J‘>.' 4 A.:o-‘)-ob . |:2 % 1000 2 % 10001| 1/k] kJ/ 8

TABLE B.1.2 (continued)

Saturated Water Pressure Eniry
Enthalpy, k]/kg Entropy, kJ/kg-K
Press. Temp. Sat. Liquid Evap. Sat. Vapor Sat. Liquid Evap. Sat. Vapor
[kPa} [° C} hy h fg hg 5r Sfg S
150 111.37 467.08 2226.46 2693.54 1.4335 5.7897 7.2232

h= b+ Xﬁfg
T=2311.37°C 2671.4 = 467.1 + x.2226.5
x. =099
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Inlet Exit
Conditions Conditions
/ Pressure 2.0 MPa 0.1 MPa
Temperature 350°C
Quality 100%
Velocity 50 m/s 100 m/s
Elevation above reference plane 6 m 3m

2= 9.8066 m/s?

w2)ld Seladge 5 Jsl (4556

. | V2 _ V2 .
Ccv. + m(h; + ?’ + ng) =m (be + TE + gze) + Wew.

. V2 50 x 50 r 6 x 9.8066
= —8.5kW i Zy = = 0.059kJ/k
dc.v. ' >~ 1000 — 22 K/kep & 1000 g'

VE

5

2

108~ 100
— Rig#0De

— 5.0kJ/kg

3 x 9.8066
gZE = 1000 = 0.029 kJ/’kg'
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Wey = —8.5 + 4707.5 — 4020.8 = 678.2 kW
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hi = ' Cwsld padled as > my = my ':m’)b Lol 3o 35 g JB & asgi b
il p)S B9le b sl (Sueladge i Johia 4 asalye
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TABLE B.1.3 (continued)
Superheated Vapor Water

Temp. v u h s v u h s
(0) m¥kg) (kg  Ikg  (kgK) kg  (kIkg (kg  (kikgK)
1200 kPa (187.99°C) 1400 kPa (195.07°C)

Sat. 0.16333 2588.82 2784.82 6.5233 0.14084 2592.83 2790.00 6.4692
200 0.16930 2612.74 2815.90 6.5898 0.14302 2603.09 2803.32 6.4975
250 0.19235 2704.20 2935.01 6.8293 0.16350 2698.32 2927.22 6.7467
300 0.21382 2789.22 3045.80 7.0316 0.18228 2785.16 3040.35 6.9533
350 0.23452 2872.16 3153.59 7.2120 020036~ 7869.12 3149.49 7.1359
400 0.25480 2954.90 3260.66 1347 =" 0.21780 2952.50 3257.42 7.3025
500 0.29463 3122.72 5] 578  7.67 28 e . 3121.10 3474.11 7.6026

>  T,=452°C

hTE = 30004 Kl /kg
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